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(a) sin (t) = ﬁ when t =

2

(b) cos (t) = _v2 whent =
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solutions in a comma sepnmted list.

Solve the equations below exactly. Give your answers in radians, and find all possible
values for £ in the interval 0 < £ < 2. If there is more than one answer, enter your /r\

N

o Find all solutiong of the equation secdz — 2 = 0.

The answer @ %71' and B + %rr where k is any integer and0< A< B< /2,
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Find all angles in radians thar satisty the eqmrmn For each solution enter first the >
I

angle solution in [0, 27) then the period‘ When 2 or more solutions are available enter
them in increasing order of the angles. (e.g. # = m/2 4 2k or & = 37/2 + 2km etc.)
Note: You are not allowed to use decimals in your answer.
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